PRE FINAL 2 EXAMINATION Roll No.
DAVP$P20060 (Sesslon 2023-24)
SUBJECT- SCIENCE
TIME -3 Hrs. CLASS-10th M.M -80
IMPORTANT INSTRUCTIONS-

1. Question paper comprises five sections A,B,C,D & E. There are 39 questions in the
question paper. All questions are compulsory. ‘

2. Section -A comprises Question No. 1-20. All questions are of one mark each. Section-B

comprises Question No.21-26 are of short answer type- 1 questions carrying 2 marks each.

3. Section-C comprises Question N0.27-33 are of short answer type- 2 questions carrying 3
marks each.

4. Section-D comprises Question N0.34-36 are of long answer type carrying 5 marks each.
Section-E comprises Question No. 37-39 are case based carrying 4 marks each.

SECTION A
1. Carefully study the diagram of the human respiratory system with labels (i), (ii), (iii) and

(iv). Select the option which gives correct identification and main function and / or
characteristic.

-

Broachus
Cut end of

Luag

(v)

(a) (i) Trachea : It is supported by bony rings for conducting inspired air.
(b) (ii) Ribs: When we breathe out, ribs are lifted.
(c) (iii) Alveoli: Thin-walled sac like structures for exchange of gases
(d) (iv) Diaphragm : It is pulled up when we breathe in.
2. Two pink coloured flowers on crossing resulted in 1 red, 2 pink and 1 white flower progeny.
The nature of cross will be:
(a) Double fertilisation
(b) Self pollination
(c) Cross pollination
(d) Triple fusion
3. Glucagon is secreted by
(a) Liver (b) Pancreas
(c) Thyroid (d) Adrenal* n
4. From the given picture of the digestive system, iden@he part labelled as gastric gland.
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in the body through the heart and lungS.
; hows the transport of gases in
5. The image shows

Which of the following option shows the transport of oxygen to the cell correctly?
() Lungs —pulmonary vein —left atrium —left ventricle —aorta — body cells

(b) Lungs —pulmonary vein —rtight atrium —right ventricle — aorta — body cells
(c) Lungs —pulmonary artery —left atrium — left ventricle — vena cava — body cells
(d) Lungs —pulmonary artery —right atrium — right ventricle— vena cava — bo

The diagram shown below depicts

dy cells
pollination.
°r B Al

Choose the options that will show a maximum variation in the offspring,
(@) A,Band C (b) Band D
() B,Cand D
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8. Which of the following phenomena of light are involved in the formation of a rainbow?
(a) Reflection, refraction, and dispersion
(b) Refraction, dispersion, and total internal reflection
(c) Refraction, dispersion, and internal reflection
(d) Dispersion, scattering and total internal reflection
9. Image formed by a concave mirror is erect and enlarged. What is the position of the object?
(a) Between focus F and the center of curvature
(b) At the center of curvature
(c) Beyond the center of curvature
(d) Between pole and the focus
10. While driving in winter, through dense fog, one can see some rays from headlights emitted
by vehicle reaching towards us is due to....
a) scattering of light b) atmospheric refraction
c) reflection of light d) dispersion of light
11. Work of 14 ] is done to move 2 C charge between two points on a conducting wire. What is
the potential difference between the two points?
(a)28V (b)14V
)7V (d)35V
12. The resistance whose V - I graph is given below is

e 9
B
2 64
>
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05 10 15 30 (N3
I (ampere)
(2)5/3Q ®)3/5Q
(c)5/2Q (d)2/5Q
13. The odour of acetic acid resembles that of
(a) Rose (b) Burning Plastic
(c) Vinegar (d) K.erosene
14 Which of the following oxides is amphoteric?
(a) NazO (b) MgO
(c) CaO (d) Al2Os
15.The number of isomers of pentane is T
(a)2 (b)3 ¢- Q‘-L-(.. t:.-t
(c)4 (d)5 e ¢
16. Identify ‘A’ in the following reaction: c
CHs;COOH + NaCO3 = A+ CO:+ H20
(a) CH3COONa (b) CH2(Na)COOH
(c) NaOH (d) NaHCO:s .
17.When a magnesium ribbon is burnt in air, the ash formed is
(a) black (b) w.h.lte
(c) yellow (d) pink

ASSERTION REASON QUESTIONS:
L
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. i i i ion followed by Reason. Reaq e
DIRECTION: Following questions contains an Assertlor} :
carefully and answer the question on the basis of following options. You have tq Selthel
one that best describes the two statements. ‘
(a)Both A and R are true and R is the correct explanation of A.

(b)Both A and R are true but R is not the correct explanation of A.
(c)A is true but R is false.
(d)A is false but R is true

18. Assertion: Testes lie outside the body.

Reason: Sperms require a temperature more than the body temperature for developmellt
19. Assertion (A): On changing the direction of flow of current through a straight conducte, i
direction of a magnetic field around the conductor is rev

ersed.
Reason (R): The direction of magnetic field around a conductor can be given in accordang
with left hand thumb rule.

20. Assertion (A): When HCl is added to zinc granules, a chemical reaction :
Reason (R): Evolution of a gas and change in colour indicate that the chemical reaction j
taking place.

!
SECTION B

energy flow in our biosphere. Refer to the diagram
of the diagram given ‘

21. The figure shown below represent the
and answer the questions on the basis
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|
Energy from the Sun

(A) Name the boxes represented

byP,Q,and R.
(B)WhatisSandwh is it li i

Draw a flow chart show; the y .
sneezing. 11§ the sequence of events which occyr during

23. Refractive index of diamond with respe
is 1.5. Find out the absoliite refractive

ou infer fro wa
labeled circuit diagram to obtain such graph, ¥ m this graph? Dra
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. Give an example of a metal which

(i) can be easily cut with a knife.

(ii)isa liquid at room temperature.

. What do you mean by neutralization reaction? Give two examples.
SECTION -C

. The genotype of green stemmed tomato plant is denoted as GG and that of purple stemmed
tomato plant as gg. When these two are crossed?

i) What colour of stem would you expect in their F1 progeny?
i) Give the percentage of purple stemmed plants if F1 plants are self-pollinated. |
iif) In what ratio would you find the genotype GG and Gg in the F progeny? '
Name the mode of reproduction of the following organisms and state the important feature |
of each mode :
a. Planaria b. Hydra c. Rhizopus
. Represent the equation of photosynthesis. Explain the steps involved in photosynthesis. In
which way are the steps of photosynthesis different in desert plant.
30. a) Write about power of accommodation of human eye. Explain why the image distance in
the eye does not change when we change the distance of an object from the eye?
b) Write the function of retina in human eye.
31.(a) What is meant by a magnetic field? Mention two parameters that are necessary to describe
it completely.
(b) If field lines of a magnetic field are crossed at a point, what does it indicate?
(c) Draw circuit diagram of a solenoid to prepare an electromagnet.
32. State the type of chemical reactions and chemical equations that take place in the following:
(i) Silver bromide is exposed to light.
(i) Electric current is passed through water.

(iii) Copper is burnt in air.
33. Define the following with appropriate equations (if required):
() Gangue
(ii) Calcination
(iii) Redox reaction
SECTION D
34. Mention one function for each of these hormones.
i) Thyroxine if) Insulin iii) Adrenaline
iv) Oestrogen V) Testnsterlime
0)

() Mention any two components of blood.

(b) Trace the movement of oxygenated blood in the body.

(c) Write the function of valves present in between atria and ventricles.

(d) Write one structural difference between the composition of artery and veins.

35.The linear magnification produced by a spherical mirror is +3. Analyze this value and state
the (i) type of mirror and (ii)posiﬁonoftl:leobjectwithrespecthothepoleof&enﬁrmr.
meamydiagmmtoshowtheformatlonofimagemthiscase.

36. (a) With the help of balanced chemical equations explain what happens when ethanol is

heated with I A

(i) Alkaline solution of potassium permanganate. SRl C- |

(ii) Excess concentrated sulphuric acid at 443 K. N

(b) Name the following compounds: 1'

(i) CHsCH.COOH (ii) CHsCH2CH2CHO (i) CHsCH2CH2CH2CH20H |
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SECTION E

37.The growing size of the human population is a cause of concern for all people. The rate of

38.

39.

birth and death in a given population will determine its size. Reproduction is the process by
which organisms increase their population. The process of sexual ma-lturfahon_for
reproduction is gradual and takes place while general body growth is still going on. Some
degree of sexual maturation does not necessarily mean that the mind or body Is ready for
sexual acts or for having and bringing up children. Various contraceptive devices are being
used by human beings to control the size of the population.

1.What are [UCDs?

2. Name any two bacterial infections that are sexually transmitted.

3. Explain any 2 methods adopted by female OR male that help to avoid unwanted
pregnancies.

Two coils C1 and C2 are wrapped around a non-conducting cylinder. Coil C1 is connected to
a battery and key and C2 with galvanometer G. On pressing the key (K), current starts
flowing in the coil C1.

Coil | Coil Il

T —e——

K
Ht—(-»L—I ©

State your observation in the galvanometer.

(a) When key K is pressed on.

(b) When current in the coil C1 is switched off.

(c) When the current is passed continuously through coil C1 .

(d) Name and state the phenomenon responsible for the above observation.

The chemical reactivity of an element depends upon its electronic configuration. All
elements having less than eight electrons in the outermost shell show chemical reactivity.
During chemical reactions, atoms of all elements tend to achieve a completely filled valence
shell. Metals are electropositive in nature. They have tendency to lose one or more electrons
present in the valence shell of their atoms to form cations and achieve nearest noble gas
configuration. The compounds formed by the transfer of electrons from one element to other
are known as ionic or electrovalent compounds.
(i) Write the electronic configuration of Mg2* ion?
(ii) Show the formation of MgCl, by electron transfer method.
(iii) Why ionic compounds have high melting and boiling points?
(iv) What happens when Magnesium chloride is dissolved in water?

OR
What happens when sodium chloride is dissolved in water?
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